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(page 342)

© Apply Your skills

ctice.
For more practice, se€ Extra Pra

Is (=1,5) a solution of each system? Explain.

Lxt+y=4 2.y=-x+4 3.y=5 dy=2+7
_ =x+6
X 1 =—%—x x=y_6 Y .
Solve by graphing. Check your solution.
S.y=x+2 6.y =x T.y=1 8.y=x+4
y=-2x+2 y = 5x y=x y=4X+1
1
9y ==3x+1 10.y=lr+1 1L3r+dp=12 I12y=3%+2
y=%x—3 = -3x+ 8 2x + 4y =8 y=—x+5

13. Suppose you have $20 in your bank account. You start saving $5 each week.
Your friend has $5 in his account and is saving $10 each week. Assume that
neither you nor your friend makes any withdrawals.

a. After how many weeks will you and your friend have the same amount of
money in your accounts?
b. How much money will each of you have?

14. Suppose you have $55 in your bank account. You start saving $10 each W.eek-
Your friend has $20 in her account and is saving $15 each week. When will you
and your friend have the same amount of money in your accounts?

Graph each system. Tell whether the system has no solution or infinitely
many solutions.

15.y = —2x + 1
y=-2x-3

16.x + 2y = 10
2x + 4y = 10

18.y =2x + 6
4x — 2y = 8

17.y =3x + 4

—12x + 4y = 16
Without graphing, decide whether each system has one solution, no solution, or
infinitely many solutions. Explain,

19. y = 2x 20,x +y=4 2.y = -3x + 1 22.3x — 5y =0
y=2x—35 2x + 2y = 8 y=3x+7 y=3x
% 23. Which graphing calculator screen shows the solution of the system below?
y=-5x+4
y = %x -3

A. B.

@ 24. Communications A communications company offers a variety of calling card

options. Card A has a 30¢ connection fee and then costs 2¢ per minute. Card B
has a 10¢ connection fee and then costs 6¢ per minute. Find the length of the
call that would cost the same with both cards.
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26. One solution; Pefpendlcumr hmes \
27. No solution; one equation isy =207 > .
»8. Infinitely many solutions: 01® equation has a y-intercept of 3
0 .
m Solve by graphing. Check your solution.
= - y=x+18 -
29.y=4x+12 30.y = 3x iO 31y=——x+36 32'y“4X+30
y=—2x+24 y=2x7 y="2 ¥ =Rty
33. Belowis a retelling of one of Aesop’s fables. Read it and use the story tq
answer the questions below.
ne day, the tortoise challenged
Othe hare to a race. The hare
laughed while bragging about how
fast a runner he was. On the day of B
the race, the hare was so confident ey
that he took a nap during the race.
When he awoke, he ran as hard as he could, but he could
not beat the slow-but-sure tortoise across the finish fine.
a. The graph at the right shows the race of the tortoise
% and the hare. Which label should be on each axis?
4 b. Writing Which color indicates the tortoise? Which
indicates the hare? Explain your answers.
¢. What does the point of intersection mean?
% Graphing Calculator Find the solution of each system. If necessary, round answes
to the nearest tenth.
My=15c+2 35y=-Jx+1 36y=02¢+35 30y=3% +45
y =25x+ 14 y=%x+?’3—8 y=‘0.4x+9.5 y:—-8.7x—6-1
38. Use the spreadsheet to T ——"‘"/g
find the solution of the AT B g
. ! |
fouowj’g e ] x | y=—acsnn | y=3h
y e x e e e i =
y=8y~5 {2 =] 15 . _—,6,‘-
" : ia P DR -

@ 39. Recording Music Suppose §3 0 11 L ”’MWS"I//
you and your friends i 4 1 7 g 0
form a band. You want —

; to record a demo. Studio A {5 2 3 - 3,
rents for $100 plus EG 3 s ) '! B 6
$50/h0ur- Studlo B rents ~—— e ; B =
for $50 plus $75/hour.

a. Solve the system by graphing. o
nga st

b. i i i
Explain what the solution of the system means in terms of rent!
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